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OO0 00O intsock, ret, on.struct sockaddr_in servaddr./* Create a
new stream (TCP) socket */sock = socket( AF_INET,



SOCK_STREAM, 0):/* Enable address reuse */on = 1.ret =
setsockopt( sock, SOL_SOCKET, SO _REUSEADDR,
amp.servaddr, 0, sizeof(servaddr) ).servaddr.sin_family =

AF _INET.servaddr.sin_addr.s_addr = htonl( INADDR_ANY
).servaddr.sin_port = htons( 45000 )./* Bind to the address
(interface/port) */ret = bind( sock, (struct sockaddr
*)&amp.servaddr, sizeof(servaddr) ).J O O O SO _REUSEADDR
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